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Section 4-4: CPCTC

Corresponding Parts of Congruent Triangles are Congruent.
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To prove two segments or two angles are congruent:

e First prove two triangles are congruent
e Second use CPCTC to show that corresponding sides

or angles are congruent.



Given: (NFis | to ME) and(N bisects M

How could you prove that
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Given: (MR bisects £ WRC) and £W=ZC
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Prove: WM=CM

Statement Reason
1. VR bisects £ WRC and ZW=2¢ | 1. Given
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Given: (NK || ET Yand (£ NTK = £ E N

Prove: NT=zEK

Statement Reason
1. NK||ET and ZNTKS £ EKT 1. Given
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